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Question No. 3 Qiven the transter function
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e lS) 4s+1
G(s) = U(s) s2+3s5+2

" e ~t '
a) What are the poles of this transfer fum.tmn: ‘ o ‘
b) What isthe irf:[):aulse response associated with this transfer funcuon (solve)?
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Question No. 1 Choose the correct answer for the fullowing R
: g Cz— m-r: Surin dmm
L. Acon trol system in which the control sction | 2. Control without measuring devices | mlfm! E: |
' is somehow dependent on the outpul is {sensors) are called contrul
knﬂ'\\n a5 {H] I:[D l
iﬂg Closed |Np Svslem (b P1 Vd _ R
/ DO
(b} Semi-closed lnnp svstem / (¢) closed ~loop / | _p_P] /
(€} Open system * ,ff I.t_-dju;.m-lnnp /
(d) Nune of the above \ :
— — =it (M - : 3 = se delay is, the mory
1. Nonlinear terms in ODE's can be 4. The more time delay ig, the more 1L 15 conmrol.
linearized 0SINE ..ooovvenveeeeinens | SAncontol.
(1) Euler angles 7 (aj casy /’ ;
(b) an craser ' b) stable | /
fic] Tavlor's series 1 (e difficult g f
(d) force f{ (d) poles |
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Question No. 2 Choose the cormec insWer fior the following (5= | ,aﬁa;:c Trm&
AcTioNn.
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